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FIELD SURVEY
fuife v fR R : [3rTtrmam 3% : 70
Time allowed : Three Hours| . [Maximum Marks : 70

A () IYRIHIAEGE 8, 99 H 8 B vl & I AT |

Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.

(ii) ¥ 9T F T YT F FHIR 0 AT 5T FA |

Solve all parts of a question consecutively together.
(iii) 7% J97 F 79 78 8 FRE il |

Start each question on fresh page.
(iv) g1 ST91371 8 3= 817 1 1 7 3731 39ag & 7= & |

Only English version is valid in case of difference in both the languages.

1. e 1 wa o wmesd

Explain the following in brief :

(i) W=
Revenue chain

(i) g fespuma
Magnetic Declination

(i) WTET GUE O
~ Mean sea level
(iv) TSRS % HEEqUl A&
Fundamental axes of theodolite
(v) &fes gemm
Horizontal equivalent (2x5)
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e fepgas 3 wd fegges § sfatsars |

Write difference between Prismatic compass & surveyor’s compass.

AT § I qUT Y-ashel 3 NHTE HI FHATEA |

Explain the effect of curvature and refraction in levelling.

30 m < 39 1 THiEA FE S |

Draw detailed sketch of 30 m chain.
A T e TR S B ¢ ¢ o wiea awwEd |

Explain different types of levelling staff with neatldrawings.

Tl TR W ST i AT i e |
Write factors affecting contour interval.
s se 938 PQRS &g et o forg e -

In a PQRS closed Traverse following observations were taken —

@1 (Line) | & (length) | f&HAH (Bearing)
PQ 240 m 50°
QR  215m 140°
RS 105 m 215°
SP ? ?
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T 6 TS TET % HEW T Y S AF A HIAC T SP i & s §

fepmm oft 3 Hifw |

Calculate latitude & departure of every line and calculate length & bearing of

line SP.

©)

5. @éﬁﬁmmmﬁmmﬁmmm,maﬁm,ﬁ%amﬁﬁmm

ISTT T ® ; 2.228 ; 1.606 ; 0.988 ; 2.090 ; 2.864 ;

1.262 ; 0.602 ; 1.982 ; 1.044 ;

2.684m.sq§avﬁaﬁzrr{vhm%rﬁaqam@mmR.L.mﬁmtrﬁqaéém
HIB.M. 432384 m 2 | '

The following staff readings were observed successively with a level, the instrument

having been moved after third, sixth and eighth readings : 2.228 ; 1.606 ; 0.988 ; 2.090
:2.864;1.262 ;0.602 ; 1.982 ; 1.044 ;2.684 m. :

Enter the above readings in Tabular form and calculate R.L. of every station if the fi

reading was taken with a staff held on a bench mark of 432.384 m.

st

12)
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6. (i) o= e Rty fufon i fafert fafae |

Write different methods of locating contours. 6)
(i) 9 Sa Ha A HMH 1 are fafds Susn & ar ° fafen |
‘Write about different apparatus used in plane table survey. 6)

s éazﬁwﬁzﬁﬁé%mﬁr&raﬁamﬂi

Explain stadia method in tachometry. (6)
(i) . dreet R W aftrn feorft faflm | ‘
Write short note on total station. , (6)

8. (i) o e Ea R frufo faft =t wwemed |
Explain Resection method of plane table surveying. ©)

(i) 3T oret % =« afe T | ;
Explain auto level with neat diagram. ©)
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